Forest County Forestry - Timber Sale Summary

Tract	Acres	Sale Name	Advertised value	Successful Bidder	Sold	\$ per acre	% Over
1-24	43	Looney Tunes	\$17,630.00	Franks Logging of Peshtigo	\$21,210.00	\$493.26	17%
2-24	64	Yosemite Sam	\$25,596.00	Albrecht Trucking LLC	\$42,978.50	\$671.54	40%
3-24	104	Ash Ketchem	\$23,808.00	Whitetail Logging LLC	\$35,465.00	\$341.01	33%
4-24	63	TMNT	\$25,574.00	Albrecht Trucking LLC	\$43,452.00	\$689.71	41%
5-24	56	Paw Patrol	\$10,054.00	Whitetail Logging LLC	\$15,756.40	\$281.36	36%
6-24	121	Scooby and Scappy Doo	\$41,845.00	Twin Forest Products LLC	\$75,447.00	\$623.53	45%
7-24	40	Elmer Fudd	\$26,324.00	Franks Logging of Peshtigo	\$43,430.00	\$1,085.75	39%
8-24	35	Open Seaon	\$24,921.00	McCaslin Logging	\$35,255.80	\$1,007.31	29%
Total	526		\$195,752.00		\$312,994.70	\$595.05	37%

			Pul	pwood S	Summary						
						Tons				Total	Tons /
Tract	Acres	Sale Name	MX	BA	Α	FB	SW	PR	PW	TOLAI	Acre
1-24	43	Looney Tunes	70		290	130	20	350	270	1,130	26.28
2-24	64	Yosemite Sam	430	145	10	10				595	9.30
3-24	104	Ash Ketchem	1,000	250	90	10				1,350	12.98
4-24	63	TMNT	800	10	25					835	13.25
5-24	56	Paw Patrol	450	310	110	85				955	17.05
6-24	121	Scooby and Scappy Doo	1,700		140					1,840	15.21
7-24	40	Elmer Fudd	250		2,350	20	20			2,640	66.00
8-24	35	Open Season	260		2,150	130	40			2,580	73.71
Total	526		4,960	715	5,165	385	80	350	270	11,925	22.67

	Sawlog Summary (MBF)													
Tract	Acres	Sale Name	MH	BA	MX	AW	Т	otal	MBF/Acre					
1-24	43	Looney Tunes			2.0			2.0	0.05					
2-24	64	Yosemite Sam	20.0	45.0	7.0	50.0	1	22.0	1.91					
3-24	104	Ash Ketchem	6.0	20.0	1.0	50.0	7	77.0	0.74					
4-24	63	TMNT	20.0	2.0	2.0	60.0	8	34.0	1.33					
5-24	56	Paw Patrol	3.0	15.0	12.0		3	30.0	0.54					
6-24	121	Scooby and Scappy Doo	40.0		55.0	40.0	1	35.0	1.12					
7-24	40	Elmer Fudd			4.0			4.0	0.10					
8-24	35	Open Season			4.0			4.0	0.11					
Total	526		89	82	87	200	45	58.00	0.87					

		Average B	id Price -	Pulpwo	od				
						Tons			
Tract	Acres	Sale Name	Mx	BA	Α	FB	SW	PR	PW
1-24	43	Looney Tunes	\$12.06		\$11.95	\$5.31	\$7.53	\$24.64	\$16.91
2-24	64	Yosemite Sam	\$10.42	\$4.55	\$10.64	\$4.30			
3-24	104	Ash Ketchem	\$11.39	\$5.15	\$11.64	\$4.75			
4-24	63	TMNT	\$11.89	\$7.62	\$11.13				
5-24	56	Paw Patrol	\$12.03	\$6.19	\$12.95	\$4.70			
6-24	121	Scooby and Scappy Doo	\$11.70		\$12.01				
7-24	40	Elmer Fudd	\$10.77		\$14.11	\$5.69	\$5.86		
8-24	35	Open Season	\$10.13		\$12.64	\$7.05	\$7.39		
	Nt. Average (All Bids) Tons	\$11.46	\$5.51	\$13.23	\$5.74	\$7.04	\$24.64	\$16.91
V	Vt. Average (A	All Bids) Cords	\$27.51	\$10.61	\$29.77	\$12.21	\$14.08	\$55.45	\$35.51

			1			
Tract	Acres	Sale Name	MH	BA	MX	AW
1-24	43	Looney Tunes			\$162.50	
2-24	64	Yosemite Sam	\$401.25	\$169.00	\$221.75	\$252.75
3-24	104	Ash Ketchem	\$395.00	\$178.33	\$253.33	\$280.00
4-24	63	TMNT	\$430.38	\$179.75	\$254.00	\$284.13
5-24	56	Paw Patrol	\$350.00	\$150.00	\$275.00	
6-24	121	Scooby and Scappy Doo	\$407.83		\$267.33	255.50
7-24	40	Elmer Fudd			\$230.83	
8-24	35	Open Season			\$230.00	
	Wt.	Average (All Bids)	\$408.60	\$168.06	\$258.45	\$269.53

			FC	TIM	IBER SALI	ER SALE B E TRACT 1-2 OM, COUR 2024	24	D				
			BIDD	ER # 1		ER # 2	BI	DDER # 3	BIDD	ER # 4	BIDD	ER # 5
				rucking LLC	Franks L	ogging of thigo		Visconsin Sawmill	Ken Mihalk	to and Sons iging		
SPECIES	TOTAL VOLUME	MINIMUM BID	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL
Tons					.	<u></u>	- -	<u> </u>	- -	A-------------		
Red Pine (Comingled)	350		\$23.00			\$10,850.00	\$22.57	\$7,899.50		\$7,700.00		
White Pine (Comingled)	270			\$5,437.80		\$3,915.00	\$15.00			\$4,860.00		
Aspen Pulp & Bolts	290			\$2,366.40	\$15.50		\$14.00	\$4,060.00		\$2,943.50		
Balsam Fir Pulp & Bolts	130		\$2.10		\$6.00	\$780.00	\$5.00	\$650.00		\$1,059.50		
Mx Hardwood Pulp & Bolts	70			\$1,057.00	\$11.00		\$12.00			\$710.50		
White Spruce Pulp & Bolts MBF	20		\$2.10	\$42.00	\$5.00	\$100.00	\$12.00	\$240.00	\$11.00	\$220.00		
MBF Mixed Hardwood Sawlogs			¢040.00	¢ 400.00	<i>Ф450.00</i>	\$200.00	¢440.00	¢000.00	¢400.00	¢000.00		
Mixed Hardwood Sawlogs	2.0		\$210.00	\$420.00	\$150.00	\$300.00	\$110.00	\$220.00	\$180.00	\$360.00		
TOTAL BID VALUE		\$17,630.00	\$17,646.20			\$21,210.00		\$17,959.50		\$17,853.50		
Performance Bond (25%)		\$17,050.00		\$4,411.55		\$5,302.50		\$4,489.88		\$4,463.38		
()				• .,	+-,			+ .,		+ ,		
			BIDD	ER # 6	BIDD	ER # 7	BIDDER # 8		BIDD	ER # 9	BIDD	ER # 10
SPECIES	TOTAL	MINIMUM	PER	SPECIES	PER	SPECIES	PER	SPECIES TOTAL	PER	SPECIES	PER	SPECIES
Tons	VOLUME	BID	UNIT	TOTAL	UNIT	TOTAL	UNIT	SPECIES TOTAL	UNIT	TOTAL	UNIT	TOTAL
Red Pine (Comingled)	350											
White Pine (Comingled)	270											
Aspen Pulp & Bolts	290											
Balsam Fir Pulp & Bolts	130											
Mx Hardwood Pulp & Bolts	70											
White Spruce Pulp & Bolts	20											
MBF												
Mixed Hardwood Sawlogs	2.0											
TOTAL BID VALUE		\$17,630.00										
Performance Bond (25%)												

			FORE		TIMBER S R SALE TR	SALE BID R ACT 2-24	ECORD					
			CC	OUNTY BOA	RD ROOM, 5/13/2024	, COURTHO	USE					
			BIDD	ER # 1	BIDD	ER # 2	BIDD	ER # 3	BIDD	ER # 4	BIDD	ER # 5
					Whitetail L	ogging LLC	Ken Mih	alko and .ogging		lko Trucking nc		
SPECIES	TOTAL VOLUME	MINIMUM BID	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL
Tons		DID										
Mx Hardwood Pulp & Bolts	430		\$9.60	\$4,128.00	\$11.93	\$5,129.90		\$4,364.50	\$10.00			\$0.00
Basswood Pulp & Bolts	145		\$8.10	\$1,174.50	\$6.20	\$899.00	\$1.90		\$2.00			\$0.00
Balsam Fir Pulp & Bolts	10		\$2.10	\$21.00	\$4.00	\$40.00	\$7.10		\$4.00	\$40.00		\$0.00
Aspen Pulp & Bolts	10		\$11.00	\$110.00	\$11.40	\$114.00	\$10.15	\$101.50	\$10.00	\$100.00		\$0.00
MBF												
White Ash Sawlogs	50.0			\$16,750.00		\$13,750.00		\$7,550.00		\$12,500.00		\$0.00
Basswood Sawlogs	45.0			\$10,125.00	\$150.00			\$6,795.00				\$0.00
Hard Maple Sawlogs	20.0		\$460.00	40 , 100	\$350.00			\$7,900.00				\$0.00
Mixed Hardwood Sawlogs	7.0		\$210.00	\$1,470.00	\$275.00	\$1,925.00	\$202.00	\$1,414.00	\$200.00	\$1,400.00		\$0.00
TOTAL BID VALUE		\$25,596.00		\$42,978.50		\$35,607.90		\$28,471.50		\$33,380.00		\$0.00
Performance Bond (25%)				\$10,744.63		\$8,901.98		\$7,117.88		\$8,345.00		\$0.00
			BIDD	ER # 6	BIDD	ER # 7	BIDD	ER # 8	BIDD	ER # 9	BIDDE	R # 10
SPECIES	TOTAL	MINIMUM	PER	SPECIES	PER	SPECIES	PER	SPECIES		SPECIES	PER	SPECIES
Tons	VOLUME	BID	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
Mx Hardwood Pulp & Bolts	430			\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
Basswood Pulp & Bolts	145			\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
Balsam Fir Pulp & Bolts	10			\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
Aspen Pulp & Bolts	10			\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
				\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
MBF										· · · ·		
White Ash Sawlogs	50.0			\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
Basswood Sawlogs	45.0			\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
Hard Maple Sawlogs	20.0			\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
Mixed Hardwood Sawlogs	7.0			\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
				\$0.00								
				\$0.00								
TOTAL BID VALUE		\$25,596.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
Performance Bond (25%)				\$0.00		\$0.00		\$0.00		\$0.00		\$0.00

			-	ST COUNTY TIMBE DUNTY BOA	R SALE TH	RACT 3-24 , COURTHO						
			BIDD	ER # 1	BIDD	ER # 2	BIDD	ER # 3	BIDD	ER # 4	BIDD	ER # 5
			Albrecht T	rucking LLC		n Lumber npany	Whitetail L	ogging LLC				
SPECIES	TOTAL VOLUME	MINIMUM BID	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL
Tons												
Mx Hardwood Pulp & Bolts Basswood Pulp & Bolts	1,000 250		\$10.18 \$8.25	\$10,180.00	\$10.75 \$2.00	\$10,750.00 \$500.00		\$13,230.00				
· · ·	250 90							\$1,300.00				
Aspen Pulp & Bolts			\$10.18	\$916.20	\$10.75			\$1,260.00				
Balsam Fir Pulp & Bolts	10		\$5.00	\$50.00	\$4.25	\$42.50	\$5.00	\$50.00				
MBF												
White Ash Sawlogs	50.0		\$290.00	\$14,500.00	\$275.00	\$13,750.00	\$275.00	\$13,750.00				
Basswood Sawlogs	20.0			\$3,200.00	\$200.00			\$3,500.00				
Hard Maple Sawlogs	6.0		\$410.00		\$425.00			\$2,100.00				
Mixed Hardwood Sawlogs	1.0		\$210.00 \$210.00		\$275.00	\$275.00	\$275.00	\$275.00				
TOTAL BID VALUE		\$23,808.00		\$33,578.70	\$32,835.00			\$35,465.00				
Performance Bond (25%)				\$8,394.68	\$8,208.75			\$8,866.25				
			חחופ	ER # 6	BIDDER # 7		חחופ		BIDD		וחחופ	ER # 10
			000		ססום		000	BIDDER # 8		BIDDER # 9		
SPECIES	TOTAL VOLUME	MINIMUM BID	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL
Mx Hardwood Pulp & Bolts	1,000											
Basswood Pulp & Bolts	250											
Aspen Pulp & Bolts	90											
Balsam Fir Pulp & Bolts	10											
MBF												
White Ash Sawlogs	50.0											1
Basswood Sawlogs	20.0											
Hard Maple Sawlogs	6.0											
Mixed Hardwood Sawlogs	1.0											
	-											
TOTAL BID VALUE		\$23,808.00										
Performance Bond (25%)												

				TIME COUNTY BC	BER SALE 7 DARD ROO 5/13/202		DUSE							
				ER # 1		DER # 2		ER # 3		ER # 4	BIDD	ER # 5		
				st Products LC	Albrecht T	rucking LLC		Lumber Ipany	•	n Lumber npany	Whitetail L	Whitetail Logging LLC		
SPECIES Tons	TOTAL VOLUME	MINIMUM BID	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL		
Mx Hardwood Pulp & Bolts	800													
Aspen Pulp & Bolts	25		\$13.30	\$13.30 \$332.50 \$10.00 \$250.00 \$10.00 \$250.00 \$11.00 \$275.00 \$12.60 \$315.00										
Basswood Pulp & Bolts	10		\$1.00	\$10.00	\$14.20	\$142.00	\$4.00	\$40.00	\$2.00	\$20.00	\$15.75	\$157.50		
MBF														
White Ash Sawlogs	60.0			\$17,400.00		\$21,000.00	\$300.00	\$18,000.00		\$18,000.00	\$280.00	\$16,800.00		
Hard Maple Sawlogs	20.0		\$500.00	\$10,000.00	\$490.00	\$9,800.00	\$405.00	\$8,100.00	\$425.00	\$8,500.00	\$380.00	\$7,600.00		
Basswood Sawlogs	2.0		\$130.00	\$260.00	\$250.00	\$500.00	\$200.00	\$400.00	\$225.00	\$450.00	\$180.00	\$360.00		
Mixed Hardwood Sawlogs	2.0	2.0 \$360.00 \$720.00 \$200.00 \$400.00 \$250.00 \$500.00 \$225.00 \$450.00 \$280.00 \$560.00												
TOTAL BID VALUE		\$25,574.00		\$39,162.50		\$43,452.00		\$36,690.00		\$36,495.00		\$36,184.50		
Performance Bond (25%)				\$9,790.63		<mark>\$10,863.00</mark>		\$9,172.50		\$9,123.75		\$9,046.13		

			BIDD	ER # 6	BIDD)ER # 7	BIDD	ER # 8	BIDD	ER # 9	BIDD	ER # 10
			Northwest	Hardwoods		ko and Sons gging		ko Trucking nc				
SPECIES	TOTAL VOLUME	MINIMUM BID	PER SPECIES UNIT TOTAL		PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL
Tons	VOLONIE	BID			UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL		TOTAL
Mx Hardwood Pulp & Bolts	800		\$10.00	\$8,000.00	\$10.15	\$8,120.00	\$12.00	\$9,600.00		\$0.00		\$0.00
Aspen Pulp & Bolts	25		\$10.00	\$250.00	\$10.15	\$253.75	\$12.00	\$300.00		\$0.00		\$0.00
Basswood Pulp & Bolts	10		\$10.00	\$100.00	\$2.00	\$20.00	\$12.00	\$120.00		\$0.00		\$0.00
				\$10.00 \$100.00								
MBF												
White Ash Sawlogs	60.0		\$300.00	\$18,000.00	\$151.00	\$9,060.00	\$302.00	\$18,120.00		\$0.00		\$0.00
Hard Maple Sawlogs	20.0		\$450.00	\$9,000.00	\$391.00	\$7,820.00	\$402.00	\$8,040.00		\$0.00		\$0.00
Basswood Sawlogs	2.0		\$100.00	\$200.00	\$151.00	\$302.00	\$202.00	\$404.00		\$0.00		\$0.00
Mixed Hardwood Sawlogs	2.0		\$210.00	\$420.00	\$205.00	\$410.00	\$302.00	\$604.00		\$0.00		\$0.00
TOTAL BID VALUE		\$25,574.00		\$35,970.00		\$25,985.75		\$37,188.00		\$0.00		\$0.00
Performance Bond (25%)				\$8,992.50		\$6,496.44		\$9,297.00		\$0.00		\$0.00

				NTY BOAR	SALE TRA	CT 5-24							
			BIDD	ER # 1	BIDD	ER # 2	BIDD	ER # 3	BIDD	ER # 4	BIDD	ER # 5	
		_	Whitetai	I Logging									
SPECIES TOTAL VOLUME MINIMUM BID PER UNIT SPECIES TOTAL SPECIES TOTAL SPECIES TOTAL SPECIES TOTAL SPECIES TOTAL SPECIES TOTAL SPECIES TOTAL SPECIES TOTAL													
Tons 450 512.03 \$5,413.50 640 <													
Basswood Pulp & Bolts	450 310			\$1,918.90									
Aspen Pulp & Bolts	110		\$12.95										
Balsam Fir Pulp & Bolts	85		\$12.95										
Baisani Fil Pulp & Boils	00		φ4.70	\$399.5U									
MBF													
Basswood Sawlogs	15.0		\$150.00	\$2,250.00									
Mixed Hardwood Sawlogs	12.0		\$275.00	\$3,300.00									
Hard Maple Sawlogs	3.0		\$350.00	\$1,050.00									
TOTAL BID VALUE		\$10,054.00		\$15,756.40									
Performance Bond (25%)				\$3,939.10									

			BIDD	ER # 6	BIDD	ER # 7	BIDD	ER # 8	BIDD	ER # 9	BIDDE	ER # 10
SPECIES	TOTAL VOLUME	MINIMUM BID	PER UNIT	SPECIES TOTAL								
Tons	VOLUWE	ыл		TOTAL								
Mx Hardwood Pulp & Bolts	450											
Basswood Pulp & Bolts	310											
Aspen Pulp & Bolts	110											
Balsam Fir Pulp & Bolts	85											
MBF												
Basswood Sawlogs	15.0											
Mixed Hardwood Sawlogs	12.0											
Hard Maple Sawlogs	3.0											
TOTAL BID VALUE		\$10,054.00										
Performance Bond (25%)												

			С	COUNTY BOA	ER SALE T	RACT 6-24 1, COURTH	OUSE					
			BIDDER # 1 Twin Forest Products			ER # 2	BIDD	ER # 3	BIDD	ER # 4	BIDDER # 5	
				LC		Kretz Lumber Company Whitetail Logging		Northwest	Hardwoods	Ken Mihalko and Sons Logging		
SPECIES	TOTAL VOLUME	MINIMUM BID	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL
Tons						-			_			-
Mx Hardwood Pulp & Bolts	1,700			\$22,185.00		\$18,700.00		\$22,049.00		\$18,700.00		\$17,255.00
Aspen Pulp & Bolts	140		\$13.30	\$1,862.00	\$11.00	\$1,540.00	\$14.62	\$2,046.80	\$11.00	\$1,540.00	\$10.15	\$1,421.00
MBF												
Mixed Hardwood Sawlogs	55.0			\$19,800.00		\$13,750.00		\$15,400.00		\$11,550.00		\$11,110.00
Hard Maple Sawlogs	40.0			\$20,000.00	\$400.00	\$16,000.00		\$15,200.00		\$15,000.00		\$15,600.00
White Ash Sawlogs	40.0		\$290.00	\$11,600.00	\$300.00	\$12,000.00	\$280.00	\$11,200.00	\$210.00	\$8,400.00	\$151.00	\$6,040.00
TOTAL BID VALUE		\$41,845.00		\$75,447.00		<u>\$61,990.00</u>		\$65,895.80		\$55,190.00		\$51,426.00
Performance Bond (25%)				\$18,861.75		\$15,497.50		\$16,473.95		\$13,797.50		\$12,856.50

			BIDD	ER # 6	BIDD)ER # 7	BIDDER # 8		BIDDER # 9		BIDDER # 10	
			Brad Mihalko Trucking Inc									
SPECIES	TOTAL VOLUME	MINIMUM BID	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL
Mx Hardwood Pulp & Bolts	1,700		\$12.00	\$20,400.00		\$0.00		\$0.00		\$0.00		\$0.00
Aspen Pulp & Bolts	140		\$12.00			\$0.00		\$0.00		\$0.00		\$0.00
	140		ψ1 <u>2</u> .00	φ1,000.00		\$0.00		\$0.00		\$0.00		φ0.00
MBF												
Mixed Hardwood Sawlogs	55.0		\$302.00	\$16,610.00		\$0.00		\$0.00		\$0.00		\$0.00
Hard Maple Sawlogs	40.0		\$402.00	\$16,080.00		\$0.00		\$0.00		\$0.00		\$0.00
White Ash Sawlogs	40.0		\$302.00	\$12,080.00		\$0.00		\$0.00		\$0.00		\$0.00
TOTAL BID VALUE		\$41,845.00		\$66,850.00		\$0.00		\$0.00		\$0.00		\$0.00
Performance Bond (25%)				\$16,712.50		\$0.00		\$0.00		\$0.00		\$0.00

			-	TIMB	ER SALE T	R SALE BID 1 RACT 7-24 1, COURTH 4										
			BIDD	ER # 1	BIDD	ER # 2	BIDD	ER # 3	BIDD	ER # 4	BIDD	BIDDER # 5				
			McCaslir	n Logging	Albrecht Trucking LLC		ing LLC Twin Forest Produ		Twin Forest Products LLC		Franks Logging of Peshtigo				Whitetail L	ogging LLC
SPECIES	TOTAL	MINIMUM	PER	SPECIES	PER	SPECIES	PER	SPECIES	PER	SPECIES	PER	SPECIES				
Tons	VOLUME	_	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL				
Aspen Pulp & Bolts	2,350		\$13.51	\$31,748.50		\$33,487.50		\$36,777.50		\$39,480.00	\$14.29	\$33,581.50				
Mx Hardwood Pulp & Bolts	250		\$13.51	\$3,377.50	\$6.72	\$1,680.00	\$9.00	\$2,250.00	\$11.80	\$2,950.00	\$13.44	\$3,360.00				
Balsam Fir Pulp & Bolts	20		\$11.51	\$230.20	\$2.50	\$50.00	\$1.00	\$20.00	\$7.00	\$140.00	\$5.00	\$100.00				
White Spruce Pulp& Bolts	20		\$11.51	\$230.20	\$2.50	\$50.00	\$1.00	\$20.00	\$7.00	\$140.00	\$5.00	\$100.00				
· · ·																
MBF																
Mixed Hardwood Sawlogs	4.0		\$185.00	\$740.00	\$300.00	\$1,200.00	\$265.00	\$1,060.00	\$180.00	\$720.00	\$250.00	\$1,000.00				
TOTAL BID VALUE		\$26,324.00		\$36,326.40		\$36,467.50		\$40,127.50		\$43,430.00		\$38,141.50				
Performance Bond (25%)				\$9,081.60		\$9,116.88		\$10,031.88		\$10,857.50		\$9,535.38				

			BIDD	ER # 6	BIDD	ER # 7	BIDD	ER # 8	BIDDER # 9		BIDDER # 10	
				to and Sons Iging								
SPECIES	TOTAL VOLUME	MINIMUM BID	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL
Tons	VOL0111L	515	0.111	TOTAL	U.I.I	TOTAL	U.I.I.	TOTAL	U.I.I	TOTAL	U.I.I	TOTAL
Aspen Pulp & Bolts	2,350		\$10.15	\$23,852.50								
Mx Hardwood Pulp & Bolts	250		\$10.15	\$2,537.50								
Balsam Fir Pulp & Bolts	20		\$7.15	\$143.00								
White Spruce Pulp& Bolts	20		\$8.15	\$163.00								
MBF												
Mixed Hardwood Sawlogs	4.0		\$205.00	\$820.00								
TOTAL BID VALUE		\$26,324.00		\$27,516.00								
Performance Bond (25%)				\$6,879.00								

	FOREST COUNTY TIMBER SALE BID RECORD TIMBER SALE TRACT 8-24 COUNTY BOARD ROOM, COURTHOUSE 5/13/2024													
			BIDD	ER # 1	BIDD	ER # 2	BIDD	ER # 3	BIDD	ER # 4	BIDDER # 5			
			McCasli	n Logging	Albrecht	Trucking	Ken Mihalko and Sons Logging		n					
SPECIES Tons	TOTAL VOLUME	MINIMUM BID	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL	PER UNIT	SPECIES TOTAL		
Aspen Pulp & Bolts	2,150		\$13.51	\$29,046.50	\$14.25	\$30,637.50	\$10.15	\$21,822.50						
Mx Hardwood Pulp & Bolts	260		\$13.51			\$1,747.20		\$2,639.00						
Balsam Fir Pulp & Bolts	130		\$11.51	\$1,496.30	\$2.50	\$325.00								
White Spruce Pulp & Bolts	40		\$11.51	\$460.40	\$2.50	\$100.00	\$8.15	\$326.00						
MBF														
Mixed Hardwood Sawlogs	4.0		\$185.00	\$740.00	\$300.00	\$1,200.00	\$205.00	\$820.00						
TOTAL BID VALUE		\$24,921.00		\$35,255.80		\$34,009.70		\$26,537.00						
Performance Bond (25%)				\$8,813.95		\$8,502.43		\$6,634.25						

			BIDDER # 6		BIDDER # 7		BIDDER # 8		BIDDER # 9		BIDDER # 10	
SPECIES	TOTAL VOLUME	MINIMUM BID	PER UNIT	SPECIES TOTAL								
Tons		515		TOTAL	ontri	TOTAL	onn	TOTAL	onn	TOTAL	U.I.I	TOTAL
Aspen Pulp & Bolts	2,150											
Mx Hardwood Pulp & Bolts	260											
Balsam Fir Pulp & Bolts	130											
White Spruce Pulp & Bolts	40											
MBF												
Mixed Hardwood Sawlogs	4.0											
TOTAL BID VALUE		\$24,921.00										
Performance Bond (25%)												